


25–04–2013PRE-MEDICAL : ENTHUSIAST,  LEADER & ACHIEVER COURSE

H 1 / 36Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

1. Vector a


 is perpendicular to b


. Component of

 a b
  along  a b

  will be –

(1) Zero (2) a – b

(3) 
2 2

2 2

a b

a b




(4) 2 2a b

2. Work done in increasing the size of a soap

bubble from a radius of 3cm to 5cm is nearly

(surface tension of soap solution = 0.03 Nm
–1

)

(1) 4 mJ (2) 0.2 mJ

(3) 2 mJ (4) 0.4 mJ

3. A rocket of initial mass 1500 kg. ejects gas at

a constant  rate of 10 kg/s. with a relative speed

of 5 km/s. What is the acceleration of the rocket

50 seconds after the blast,  neglecting gravity:-

(1) 10 m/s2 (2) 25 m/s2

(3) 50 m/s2 (4) 100 m/s2

4. A wooden block with a coin placed on its top

floats in water as shown in figure. The  and

h are shown there. After some time the coin falls

into the water then : -

Coin

h



(1)  decrease and h increase

(2)  increase and h decrease

(3) Both  & h increase

(4) Both  & h decrease

1.  a


,  b


     a b
  

 a b
  :–

(1)  (2) a – b

(3) 
2 2

2 2

a b

a b




(4) 2 2a b

2. 3cm 5cm

 : -

( = 0.03 Nm
–1 )

(1) 4 mJ (2) 0.2 mJ

(3) 2 mJ (4) 0.4 mJ

3.      1500        
10 5 

50 :-

(1) 10 m/s2 (2) 25 m/s2

(3) 50 m/s2 (4) 100 m/s2

4. 
  h 
:-

Coin

h



(1)   h 

(2)   h 

(3)   h 

(4)   h  

      
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5. Two blocks of mass 8 kg. and 5 kg. are connected

by a heavy rope of mass 3 kg. Complete system

is accelerated upwards by 10 m/s2 as shown in

the figure. The tension at the point ‘P’ will be :-

(1) 60N

(2) 90N
8kg.

3kg.P a =  10 m/s2

5kg.(3) 160N

(4) 150N

6. An n-p-n transistor in a common emitter mode

is used as a simple voltage with a amplifier

collector connected to load resistance RL and

to the base through a resistance RB. The

collector-emitter voltage  VCE = 4V, the  base-

emitter voltage VBE = 0.6V, current through

collector is 4 mA and the current amplification

factor  = 100. Calculate the value of RB :-

RB RL 8V
C

EB

(1) 1k (2) 85k

(3) 185k (4) None

7. A block has been  placed on an inclined plane.

The slope angle  of the plane is such that the

block slides down the plane at a constant speed.

The coefficient of kinetic friction is equal to :-

(1) sin (2) cos

(3) g (4) tan

8. In given circuit calculate voltage across a-b :-

60V

ba

C

C

(1) 10V (2) 20V

(3) 30V (4) 40V

5. 8 kg 5 kg 3 kg 

10 m/s2 
‘P’ :-

(1) 60N

(2) 90N
8kg.

3kg.P a =  10 m/s2

5kg.(3) 160N

(4) 150N

6.      n-p-n  



RL RB 

    VCE = 4V

VBE = 0.6 V, 

4mA    = 100  RB

   

RB RL 8V
C

EB

(1) 1k (2) 85k

(3) 185k (4) 

7. 

              
 :-

(1) sin (2) cos

(3) g (4) tan

8. a - b 

60V

ba

C

C

(1) 10V (2) 20V

(3) 30V (4) 40V
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9. A body is projected in such a way that its

horizontal range and time of flight both are

equal to 
3

g
. The angle of projection will be:-

(1)  = tan–1
3

4

 
 
 

(2)  = tan–1
3

2

 
 
 

(3)  = tan–1
2

3

 
 
 

(4)  = tan–1
5

8

 
 
 

10. The activity of one mg of an element is

1.2 × 103 disintegrations/s. The activity of one

gm of the same element will be-

(in disintegration/s)

(1) 1.2 × 103 (2) 1.2 × 105

(3) 1.2 × 106 (4) 1.2 × 104

11. Two persons A and B running on a track in the

same direction observe a car. A says that the car

is moving in east direction and B says that the

car is moving in north direction. They contradict

the direction but say that magnitude is same. If

the speed of B is double that of the speed of A,

then the true direction of the car will be :-

(1)  = tan–1 1

2

 
 
 

 North of East

(2)  = tan–1 1

2

 
 
 

South of East

(3)  = tan–1 1

3

 
   North of East

(4) None of these

12. The radius of the nucleus of 8O
16

 is 3 × 10
–15

m. Its density in kg/m³ will be about-

(1) 2.35 × 10
–17

(2) 2.35 × 10
14

(3) 1014

(4) 2.31 × 10
17

9.  


3

g
 

:-

(1)  = tan–1
3

4

 
 
 

(2)  = tan–1
3

2

 
 
 

(3)  = tan–1
2

3

 
 
 

(4)  = tan–1
5

8

 
 
 

10.        1.2 × 103





(1) 1.2 × 103 (2) 1.2 × 105

(3) 1.2 × 106 (4) 1.2 × 104

11. A B    
 A  
 B 
      
     B
, A           
   :-

(1)  = tan–1 1

2

 
 
 

 

(2)  = tan–1 1

2

 
 
 



(3)  = tan–1 1

3

 
   

(4) 

12.
8
O16     3 × 10–15 m  

kg/m³     

(1) 2.35 × 10–17

(2) 2.35 × 1014

(3) 1014

(4) 2.31 × 1017
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13. A ball moving with a velocity v strikes a wall

moving towards the ball with a velocity u. An elastic

impact lasts for t seconds then the mean elastic force

acting on the ball is (Mass of the ball is M) :-

(1) 
2Mv

t
(2) 

M(v 2u)

t



(3) 
2M(v u)

t


(4) 

M(2v u)

t



14. Which of the following statements is wrong-

(1) De-Broglie waves are probability waves.

(2) De-Broglie wavelength of a moving particle

is inversely proportional to its momentum.

(3) Wave nature is associated with atomic

particles only.

(4) In general wave nature of matter is not

observed.

15. A block of mass m moving with velocity u. It

meets a hill of mass 3m and height h that can

also move along the plane. The block begins

to slide up the hill. If the hill is initially at rest.

What value of u provides the maximum velocity

of the hill. Assume all the surface are

frictionless :-

(1) 
2gh

3
(2) 

4gh

3

(3) 
8gh

3
(4) 

10gh

3

16. When light of wavelength 300 nm (nanometer)

falls on a photo electric emitter, photo-electrons

are liberated of zero KE. For another emitter,

however, light of 600 nm wavelength is suf-

ficient for creating photo-emission. What is the

ratio of the work function of the two emitter-

(1) 1 : 2 (2) 2 : 1

(3) 4 : 1 (4) 1 : 4

17. A pump motor is used to deliver water at a

certain rate from a given pipe. To obtain thrice

as much water from the pipe in the same time

power of the motor has to be increased :-

(1) 3 times (2) 9 times

(3) 27 times (4) 81 times

13. v u 
t 

 (M ) :-

(1) 
2Mv

t
(2) 

M(v 2u)

t



(3) 
2M(v u)

t


(4) 

M(2v u)

t



14. 

(1) 

(2) 



(3) 

(4) 

15. m  u 3m

h 



u 



:-

(1) 
2gh

3
(2) 

4gh

3

(3) 
8gh

3
(4) 

10gh

3

16. 300 nm 




600 nm 



(1) 1 : 2 (2) 2 : 1

(3) 4 : 1 (4) 1 : 4

17. 


:-

(1) 3  (2) 9 

(3) 27  (4) 81 
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18. Magnifying power of astronomical telescope

for normal adjustment is 5. The distance

between lenses is 24 cm. Focal length of the

lenses are :-

(1) 4 cm, 16 cm (2) 3 cm, 15 cm

(3) 6 cm, 18 cm (4) 4 cm, 20 cm

19. Soap bubbles look coloured due to –

(1) Dispersion (2) Reflection

(3) Interference (4) Any one of these

20. The near point of a person is at 50 cm. What

is the power of the lens required to enable the

person to read clearly a book held at 25 cm.

(1) 1D (2) –1D (3) 2D (4) –2D

21. In young's double slit experiment the phase

difference between the two waves reaching at

the location of the third dark frings is-

(1)  (2) 6  (3) 5  (4) 7 

22. Six resistances each of value r = 6  are

connected between points A, B and C as shown

in the figure. If R1, R2 and R3 are the net

resistance between A and B, between B and C

and between A and C respectively, then

R1 : R2 : R3 will be equal to :-

(1) 6 : 3 : 2

(2) 1 : 2 : 3

       
r

r

r
r

r

r
B C

A

r = 6

(3) 5 : 4 : 3

(4) 4 : 3 : 2

23. A spherical shell first rolls and then slips down

an inclined plane. The ratio of its accelerations

in two cases will be :–

(1) 
5
3

(2) 
3
5

(3) 
15
13

(4) 
13
15

24. A volt meter of resistance 280  reads the

voltage across the terminals of an old dry cell

to be 1.40 V, while a potentiometer reads its

voltage equal to 1.55 V. To draw maximum

power from the battery, the load resistance

must have the value :-

(1) 60  (2) 45 

(3) 35  (4) 30 

18.  5 

24 cm 



(1) 4 cm, 16 cm (2) 3 cm, 15 cm

(3) 6 cm, 18 cm (4) 4 cm, 20 cm

19.  –

(1)   (2) 

(3)  (4) 

20.      50 cm   
     25 cm  
 

(1) 1D (2) –1D (3) 2D (4) –2D

21. 

(1)  (2) 6 

(3) 5  (4) 7 

22. r = 6  () 6 
A, B C R1, R2 R3

A B, B C A C 
R1 : R2 : R3 :-

(1) 6 : 3 : 2

(2) 1 : 2 : 3

       
r

r

r
r

r

r
B C

A

r = 6

(3) 5 : 4 : 3

(4) 4 : 3 : 2

23. 



(1) 
5
3

(2) 
3
5

(3) 
15
13

(4) 
13
15

24. 1.40V

  1.55 V  

280 

 :-

(1) 60  (2) 45 

(3) 35  (4) 30 

  Key Filling      
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25. A chain couples and rotates two wheels in a

bicycle. The radii of bigger and smaller wheels

are 0.5m. and 0.1 respectively. The bigger

wheel rotates at the rate of 200 rotations per

minute, then the rate of rotation of smaller

wheel will be :–

(1) 1000 rpm (2) 
50
3

 rpm

(3) 200 rpm (4) 40 rpm

26. A body is projected vertically upward from the

surface of the earth with a velocity equal to half

the escape velocity. If R is radius of the earth,

the maximum height attained by the body is :-

(1) R/6 (2) R/3

(3) 2R/3 (4) R

27. During an adiabatic expansion, the increase in

volume is associated with which of the

following possibilities w.r.t. pressure and

temperature?

Pressure Temperature

(1) Increase Increase

(2) Decrease Decrease

(3) Increase Decrease

(4) Decrease Increase

28. Consider a satellite orbiting the earth as shown

in the figure below. Let La and Lp represent the

angular momentum of the satellite about the

earth when at aphelion and perihelion

respectively. Consider the following relations:-

(i) a pL L
 

ra

rp
earth

satellite
a (aphelion)

(perihelion)p

(ii) a pL L 
 

(iii) 
a a b br L r L  
  

Which of the above

relations is/are true ?

(1) (i) only (2) (ii) only

(3) (iii) only (4) (i) and (iii)

29. If HC, HK and HF are heat required to raise the

temperature of one gram of water by one

degree in celsius, kelvin and Fahrenheit

temperature scales respectively then :-

(1) HK > HC > HF (2) HF > HC > HK

(3) HK = HC > HF (4) HK = HC < HF

25. 

            0.5 

0.1 200 



(1) 1000 rpm (2) 
50
3

 rpm

(3) 200 rpm (4) 40 rpm

26. 



(R ) :-

(1) R/6 (2) R/3

(3) 2R/3 (4) R

27.       
       

   ?

 

(1)  

(2)  

(3)  

(4)  
28. 



       La  Lp  

  :-

(i) a pL L
 

ra

rp



a

p

(ii) a pL L 
 

(iii) 
a a b br L r L  
  




(1)  (i) (2)  (ii)
(3)  (iii) (4) (i) (iii)

29. HC, HK  HF 1 



:-

(1) HK > He > HF (2) HF > HC > HK

(3) HK = HC > HF (4) HK = HC < HF
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30. A capacitor of capacitance 2µF is first charge

by connecting across a 200 V battery then it is

allowed to get discharged through a resistor R.

The figure shows an experimental plot

discharging of a capacitor. The value of R is

(loge
2 = 0.7) :-

70 140 210 t(ms)

25V
50V

100V

200V
V

(1) 25 K  (2) 50 K 

(3) 100 K  (4) 200 K 

31. Four spheres A, B, C and D are of same radius
but made of different metals. Their densities are
in ratio 6 : 3 : 4 : 5 and specific heats are in
ratio 2 : 5 : 4 : 6. These are initially kept at the
same temperature and placed in the same
surroundings. The sphere which has the
slowest rate of cooling is :-
(1) C (2) B (3) D (4) A

32. Two identical incandescent light bulbs are

connected as shown in figure. The circuit is

connected to an AC voltage source of variable

frequency. Then read the following

observations :-

C L

b1 b2

Observation A :
Both bulbs will glow with same brightness

on frequency f = 
1

2 LC
Observation B :

Balb b1 will glow with more brightness than

bulb b2 on f < 
1

2 LC
(1) Both observations are correct
(2) Both observation are incorrect
(3) Observation A is correct but observation B

is incorrect
(4) Observation A is incorrect but observation

B is correct

30. 2µF 200 V 

R 



        R    

(loge2 = 0.7) :-

70 140 210 t(ms)

25V

50V

100V

200V
V

(1) 25 K  (2) 50 K 

(3) 100 K  (4) 200 K 

31. A, B, C 
D 6 : 3 : 4 : 5 

2 : 5 : 4 : 6 

:-
(1) C (2) B (3) D (4) A

32. 

:-

C L

b1 b2

A :

f = 
1

2 LC
 


B :

f < 
1

2 LC
 b

1
, b

2
 


(1) 
(2) 
(3) A B 
(4) A B 
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33. The r.m.s. velocity of a gas at  a certain

temperature is 2  times than that of the

oxygen molecules at that temperature. The gas

can be :-

(1) H2 (2) He

(3) CH4 (4) SO2

34. When L.C.R. series circuit is connected to an

alternating emf E = 200sin(100t + /6)volt.

Then I = 2sin(100t + /3)Amp current flows

in circuit. The reactance of circuit is :-

(1) 50  capacitive

(2) 50  inductive

(3) 50 3  capacitive

(4) 50 3  inductive

35. An ambulance blowing siren of frequency

700 Hz is moving towards a vertical wall with

velocity of 2 m/s. The velocity of sound is

352 m/s. Then frequency of reflected sound

heard by the driver will be

(1) 692 Hz (2) 695 Hz

(3) 700 Hz (4) 708 Hz

36. The current through a 6 mH inductor is shown

in the following graph. The induced emf at

t = 4 ms will be :-

B

A

C
t(ms)

7

5

i
(Amp)

0 2 5 6

(1) 3V (2) –3V

(3) 4V (4) –4V

37. Which of the following function of time

represents S.H.M.

(1) sin t – cos t

(2) cos t + cos 3t + cos 5t

(3) 1 + t + 2t2

(4) exp (–2t2)

33.          

      2     

  :-

(1) H2 (2) He

(3) CH4 (4) SO2

34. L.C.R. 
E = 200sin(100t + /6) 
I = 2sin(100t + /3) 
:-

(1) 50  

(2) 50  

(3) 50 3  

(4) 50 3  

35. 700 Hz 

2 m/s 

352 m/s 



(1) 692 Hz (2) 695 Hz

(3) 700 Hz (4) 708 Hz

36. 6mH 
t = 4 
:-

B

A

C
t(ms)

7

5

i
(Amp)

0 2 5 6

(1) 3V (2) –3V

(3) 4V (4) –4V

37.          
 

(1) sin t – cos t

(2) cos t + cos 3t + cos 5t

(3) 1 + t + 2t2

(4) exp (–2t2)
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38. A working transitor with its three legs marked

P, Q and R is tested using a multimeter. No

conduction is found betwen P and Q. By

connecting the common (negative) terminal of

the multimeter to R and the other (positive)

terminal to P or Q, some resistance is seen on

the multimeter. Which of the following is true

for the transistor :-

(1) It is an npn transistor with R as base

(2) It is a pnp transistor with R as collector

(3) It is a pnp transistor with R as emitter

(4) It is an npn transistor with R as collector

39. An open pipe is suddenly closed with the

result that the second overtone of the closed

pipe is found to be higher in frequency by

100 Hz,  than  the f irs t  over tone of  the

original pipe. The fundamental frequency

of open pipe will be :

(1) 100 Hz (2) 300 Hz

(3) 150 Hz (4) 200 Hz

40. A square current carrying loop is placed in

uniform magnetic field. If the magnetic force

on one arm of the loop is F


 then net magnetic

force on the remaining three arms of the loop:-

(1) 3 F


(2) –3 F


(3) F


(4) – F


41. A transverse sinusoidal wave of amplitude a,

wavelength  and frequency n is travelling on

a stretched string. The maximum speed of any

point on the string is v/10, where v is the speed

of propagation of the wave. If a = 10–3 m and

v = 10 m/s, then n is given by

(1) n = 2 × 10–2 m

(2)  = 10–3 m

(3) n = 
310

Hz
2

(4) n = 104 Hz

38. P, Q R

P Q 

   

R P 

Q 

:-

(1) npn  R 

(2) pnp  R 

(3) pnp R 

(4) npn  R 

39. 



100 Hz 



(1) 100 Hz (2) 300 Hz

(3) 150 Hz (4) 200 Hz

40.   

 F


 

      :-

(1) 3 F


(2) –3 F


(3) F


(4) – F


41. 

a,  n 

v/10 (v = 

a = 10–3 m v = 10 m/s n



(1) n = 2 × 10–2 m

(2)  = 10–3 m

(3) n = 
310

Hz
2

(4) n = 104 Hz

Use stop, look and go method in reading the question
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42. A dip needle lies initially in the magnetic

meridian when it shows an angle of dip  at a

place. The dip circle is rotated through an angle

 in the vertical plane and then it shows an

angle of dip '. Then 
tan '

tan




 is :-

(1) 
1

cos
(2) 

1

sin

(3) sin (4) cos

43. The diagram below shows the propagation of

a wave. Which poins are in same phase

(1) F, G        E
H

GF

D

CB

A
(2) C and E

(3) B and G

(4) B and F

44. Two point charges are kept at a certain distance

from one another. The graph represent the

variation of the potential along the straight line

connecting the two charges.

xqBqA

V

(1) q
A

 and q
B
 both are positive and |q

A
| > |q

B
|

(2) qA and qB both are negative and |qA| < |qB|

(3) Both charges have opposite nature and

|qA
| > |q

B
|

(4) Both charges have opposite nature and

|qA| < |qB|

45. In a certain region a uniform field 
x
ˆE E i



exists. If a small circle is drawn with the origin

as the centre cutting the axes at A(a, 0),

B(0, a), C(–a, 0) and D(0, –a). The potential at

point A, B, C, D are V
A
, V

B
, V

C
, V

D
 respectively

then :-

(1) V
A
 > V

B
 = V

D
 > V

C

(2) V
C
 > V

B
 = V

D
 > V

A

(3) V
A
 = V

B
 = V

C
 = V

D

(4) V
A
 > V

B
 > V

C
 > V

D

42. 
 

 '


tan '

tan




 :-

(1) 
1

cos
(2) 

1

sin

(3) sin (4) cos

43. 


(1) F, G

(2) C  E       

E
H

GF

D

CB

A

(3) B G

(4) B  F

44. 

:-

xqBqA

V

(1) q
A
 qB

   |qA
| > |q

B
| 

(2) qA qB  |qA| < |qB| 

(3) |qA| > |qB|



(4) |q
A
| < |q

B
|



45. 
x
ˆE E i


 



A(a, 0), B(0, a), C(–a, 0)  D(0, –a)

 A, B, C, D  

V
A
, V

B
, V

C
, V

D
  :-

(1) V
A
 > V

B
 = V

D
 > V

C

(2) V
C
 > V

B
 = V

D
 > V

A

(3) V
A
 = V

B
 = V

C
 = V

D

(4) V
A
 > V

B
 > V

C
 > V

D
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46. Calculate the Gº of galvanic cell in which the

following reaction take place :-

2Cr(s) + 3Cd2+(aq) 2Cr3+(aq) + 3Cd

Given : E0(Cr3+/Cr) = –0.74V & E0(Cd2+/Cd)

= – 0.40 V

(1) 196.86 KJ (2) –196.86 KJ

(3) 98.43 KJ (4) –98.43 KJ

47. Which of the following can show geometrical

isomerism :-

(1) 

Cl

Cl
(2) 

Cl

Cl

(3) CH
3
–CH=NH (4) (CH

3
)
2
C=N–OH

48. The molality of 20% (mass/mass) aq. KI is :-

(at. mass of K = 39, I = 127)

(1) 1.52 m (2) 1.21 m

(3) 0.0012 m (4) 250 m

49. Which of the following is correct order of

reactivity :-

(1) CH3
–CH

2
Cl > (CH

3
)
2
CH–Cl > (CH

3
)
3
C–Cl

(E
2
 elimination)

(2) CCl3–CH=O > CH3–CH=O > Ph–CH=O

(Nucleophilic addition reaction)

(3) 

OH

CH3

 > 

OH

 > 

OH

OCH3

(Electrophilic substitution)

(4) CH
3
–CH

2
–CH

2
Cl > CH

3
NHCH

2
Cl >

CH3–O–CH2Cl (SN1 reaction)

50. H2S, a toxic gas with rotten egg like small, is

used for the qualitative analysis. If the

solubility of H2S in water at STP is 0.2m

calculate Henry's law constants :-

(1) 278.5 atm (2) 27.85 atm

(3) 10 atm (4) 1 atm

51.

SO H3

r(i) NaOH, p

(ii) H

  X 
R

OH

COOH

(Salicylic acid)

R can be, :-
(1) (i) CCl

4
 in KOH,  (ii) H

(2) (i) CHCl
3
 in KOH (ii) H

(3) (i) CO2 in NaOH,  (ii) H

(4) (1) & (3) both

46. Gº 

2Cr(s) + 3Cd2+(aq) 2Cr3+(aq) + 3Cd

 : E0(Cr3+/Cr) = –0.74V & E0(Cd2+/Cd)

= – 0.40 V

(1) 196.86 KJ (2) –196.86 KJ

(3) 98.43 KJ (4) –98.43 KJ

47. :-

(1) 

Cl

Cl
(2) 

Cl

Cl

(3) CH3–CH=NH (4) (CH3)2C=N–OH

48. 20% (/) KI 
(K = 39, I = 127)

(1) 1.52 m (2) 1.21 m

(3) 0.0012 m (4) 250 m

49. :-
(1) CH3–CH2Cl > (CH3)2CH–Cl > (CH3)3C–Cl

(E2 )
(2) CCl

3
–CH=O > CH

3
–CH=O > Ph–CH=O

()

(3) 

OH

CH3

 > 

OH

 > 

OH

OCH3

()
(4) CH

3
–CH

2
–CH

2
Cl > CH

3
NHCH

2
Cl >

CH3–O–CH2Cl (SN1 )
50. H2S 


STP H2S 0.2m 

(1) 278.5 atm (2) 27.85 atm
(3) 10 atm (4) 1 atm

51.

SO H3

r(i) NaOH, p

(ii) H

  X 
R

OH

COOH

(Salicylic acid)

R :-
(1) (i) CCl4

 in KOH,  (ii) H

(2) (i) CHCl
3
 in KOH (ii) H

(3) (i) CO2 in NaOH,  (ii) H

(4) (1)  (3) 
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52. In the balanced chemical reaction,

IO3
– + aI– + bH+ cH2O + dI2

a, b, c and d respectively correspond to :-

(1) 5, 6, 3, 3 (2) 5, 3, 6, 3

(3) 3, 5, 3, 6 (4) 5, 6, 5, 5

53. CH CH C Cl3 2– – –

O

 3NH

Pyridine
  X 2Br |KOH(aq.)  Y

            2(NaNO HCl)

(major)
Z ; Z is :-

(1) CH
3
–CH

2
–OH (2) CH

3
–CH

2
–NO

2

(3) CH3–CH2–Cl    (4) CH3–CH2–O–CH2–CH3

54. 0.44g of a colourless oxide of nitrogen

occupies 224 ml at STP. The compound is :-

(1) N2O (2) NO (3) N2O2 (4) NO2

55. Which of the following statement is incorrect:-

(1) High density polyethene is prepared in

presence of ziegler natta catalyst.

(2) (Nylong-2, Nylon-6) is a biodegradable

polymer

(3) Vulcanisation increases water absorption

tendency of rubber

(4) Polyacrylonitrite[PAN] is a fibre polymer

56. Among the following cells :-

(I) Leclanche cell

(II) Nickel-cadmium cell
(III) Lead storage battery

(IV) Mercury cell
Primary cell are :-

(1) I and II (2) I and III
(3) I and IV (4) II and III

57. Which of the following is incorrect :-

(1) 

CHO

CH(OH)

CH OH

|

|
–

4

2

 3HNO  

COOH

CH(OH)

COOH

|

|
4

(2) 

CH OH

C=O

(CH–OH)

CH OH

2

3

2

–
|

|

|
–

 2 2Br |H O  

COOH

C=O

(CH–OH)

CH OH

|

|

|
–

3

2

(3) 

CH O

(CH OH)

CH OH

=
|
–

|
–

4

2

(D-Glucose)

 
alkaline

medium
D-glucose + D-Fructose

         + D-Mannose

(4) All

52. 
IO3

– + aI– + bH+ cH2O + dI2

a, b, c  d 
(1) 5, 6, 3, 3 (2) 5, 3, 6, 3
(3) 3, 5, 3, 6 (4) 5, 6, 5, 5

53. CH CH C Cl3 2– – –

O

 3NH

Pyridine
  X 2Br |KOH(aq.)  Y

            2(NaNO HCl)

(major)
Z ; Z  :-

(1) CH3–CH2–OH (2) CH3–CH2–NO2

(3) CH
3
–CH

2
–Cl     (4) CH

3
–CH

2
–O–CH

2
–CH

3

54. 0.44g 224 ml

 STP 
(1) N2O (2) NO (3) N2O2 (4) NO2

55. :-
(1)  


(2) (Nylong-2, Nylon-6)   
(biodegradable) 

(3) 


(4) [PAN] 
56. 

(I) 
(II) 
(III) 
(IV) 

(1) I and II (2) I and III

(3) I and IV (4) II and III

57. :-

(1) 

CHO

CH(OH)

CH OH

|

|
–

4

2

 3HNO  

COOH

CH(OH)

COOH

|

|
4

(2) 

CH OH

C=O

(CH–OH)

CH OH

2

3

2

–
|

|

|
–

 2 2Br |H O  

COOH

C=O

(CH–OH)

CH OH

|

|

|
–

3

2

(3) 

CH O

(CH OH)

CH OH

=
|
–

|
–

4

2

(D-Glucose)

 alkaline

medium
D-glucose + D-Fructose

         + D-Mannose

(4) 
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58. A mixture of CH4 & HBr, in a vessel are

allowed to effuse out through a small hole at

the same temperature. What is the mole frac-

tion of CH4 in the vessel if the initial rates of

effusion are the same for both gases (Br = 80):-

(1) 0.31 (2) 0.44 (3) 0.5 (4) 0.16

59. Which of the following is not formed in the

given reaction :-

CH3–CH=O + CH3–CH2–CH=O 2Ba(OH) aq.




(1) CH
3
–CH=CH–CH=O

(2) CH3–CH2–CH=CH–CH2–CH=O
(3) CH3–CH2–CH=CH–CH=O

(4) 

CH3

CH CH C CH O 3– = – =

60. A first order reaction goes for 20% completion

in 10 minutes. The time taken for 75%

completion is :-

(1) 62 min. (2) 72 min.

(3) 80 min. (4) 52 min.

61. Which of the following has maximum

reactivity towards nucleophilic attack :-

(1) CH C CH3 3– –

O

(2) CH C H3– –

O

(3) CH C Cl3– –

O

(4) CH C OC H3 2 5– –

O

62. One mole of an ideal gas at 25ºC expands in

volume from 1.0  to 4.0  at constant

temperature. What work (in J) is done if the

gas expands against no external pressure?

(1) –4.0 × 10
2

(2) –3.0 × 10
2

(3) –1.0 × 10
2

(4) Zero

63. Which of the following is most acidic :-

(1) 

OH

NO2

(2) 

OH

OCH3

(3) 

OH

Cl

(4) 

OH

COOH

58. CH4  HBr 

CH4 



(Br = 80)

(1) 0.31 (2) 0.44 (3) 0.5 (4) 0.16

59. :-

CH3–CH=O + CH3–CH2–CH=O 2Ba(OH) aq.




(1) CH3–CH=CH–CH=O

(2) CH3–CH2–CH=CH–CH2–CH=O

(3) CH3
–CH

2
–CH=CH–CH=O

(4) 

CH3

CH CH C CH O 3– = – =

60. 20% 10 
75% 
 :-
(1) 62 min. (2) 72 min.

(3) 80 min. (4) 52 min.

61.  
:-

(1) CH C CH3 3– –

O

(2) CH C H3– –

O

(3) CH C Cl3– –

O

(4) CH C OC H3 2 5– –

O

62. 25ºC 1 1.04.0 

(J ) 



(1) –4.0 × 10
2

(2) –3.0 × 10
2

(3) –1.0 × 10
2

(4) 
63. :-

(1) 

OH

NO2

(2) 

OH

OCH3

(3) 

OH

Cl

(4) 

OH

COOH

      
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64. Calculate the enthalpy of the following

reaction : CH3OH(g) + HCl(g)  CH3Cl(g) + H2O(g)

Give :  Bond energy of  C – H = 414 KJ/mol

H – O = 463 KJ/mol

H – Cl = 431KJ/mol

C – Cl = 326KJ/mol

C – O = 335KJ/mol

(1) –23 kJ/mol (2) +23 kJ/mol

(3) + 42 kJ/mol (4) –42 kJ/mol

65. CH C CH3 3– –

OH

CH3

H /   X 
2 2

H Br

R O (major)
Y ; Y is :-

(1) CH CH CH Br3 2– – –

CH3

(2) CH C CH3 3– –

CH3

Br

(3) CH CH CH OR3 2– – –

CH3

(4) CH C CH3 3– –

CH3

OR

66. Tetragonal crystal system has the following unit

cell dimensions.

(1) a = b = c and  =  =  = 90°

(2) a = b  c and  =  =  = 90°

(3) a  b  c and  =  =  = 90°

(4) a = b  c and  =  = 90°,  = 120°

67. C6
H

5
CH

2
–Br Mg

ether
  A 3 3(CH ) COHB

Product B is :-

(1) C6H5CH2OH      (2) C6H5CH3

(3) (CH
3
)
3
CH         (4) C

6
H

5
CH

2
C(CH

3
)

3

68. In a compound, atom of Y form ccp lattice and

those of element X occupy 
2

3

rd
 of tetrahedral

voids, the formula of the compound will be :-

(1) X2Y3 (2) X2Y

(3) X3Y4 (4) X4Y3

69. Which of the following is most reactive

towards SN
1 reaction :-

(1) C6H5CH2Br

(2) C6H5CH(Br)CH3

(3) C6H5CH(Br)C6H5

(4) C
6
H

5
C(Br)(CH

3
)C

6
H

5

64. H :
CH3OH(g) + HCl(g)  CH3Cl(g) + H2O(g)

:  C – H = 414 KJ/mol

H – O = 463 KJ/mol

H – Cl = 431KJ/mol

C – Cl = 326KJ/mol

C – O = 335KJ/mol

(1) –23 kJ/mol (2) +23 kJ/mol

(3) + 42 kJ/mol (4) –42 kJ/mol

65. CH C CH3 3– –

OH

CH3

H /   X 
2 2

H Br

R O (major)
Y ; Y :-

(1) CH CH CH Br3 2– – –

CH3

(2) CH C CH3 3– –

CH3

Br

(3) CH CH CH OR3 2– – –

CH3

(4) CH C CH3 3– –

CH3

OR

66.   

(1) a = b = c and  =  =  = 90°

(2) a = b  c and  =  =  = 90°

(3) a  b  c and  =  =  = 90°

(4) a = b  c and  =  = 90°,  = 120°

67. C6
H

5
CH

2
–Br Mg

ether
  A 3 3(CH ) COHB

 B  :-
(1) C6H5CH2OH      (2) C6H5CH3

(3) (CH
3
)
3
CH         (4) C

6
H

5
CH

2
C(CH

3
)

3

68. Y ccp 

X 
2

3

rd
 

:-
(1) X2Y3 (2) X2Y

(3) X3Y4 (4) X4Y3

69.  SN
1 

:-
(1) C6H5CH2Br

(2) C6H5CH(Br)CH3

(3) C6H5CH(Br)C6H5

(4) C
6
H

5
C(Br)(CH

3
)C

6
H

5
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70. 0.6 mole of NH3 in a reaction vessel of 2 dm3

capacity was brought to equilibrium. The

vessel was then found to contain 0.15 mole of

H2 formed by the reaction.

2NH3 N2 + 3H2 which of the following

statements is true.

(1) 0.15 mole of the original NH3 had

dissociated at equilibrium

(2) 0.55 mole of ammonia is left in the vessel

(3) At equilibrium the vessel contained 0.45

mole of N2

(4) The concentration of NH3 at equilibrium is

0.25 mole per dm3

71. Which of the following can show tautomerism :-

(1) 

O

O

(2) 

O

O

(3) 
OH

(4) = =C O

72. Sodium sulphate dissolves in water with

evolution of heat consider a saturated

solution of sodium sulphate if the temperature

is raised, then according to le-chateliers

principle.

(1) More solid will dissolve

(2) Some solid will precipitate out from the

solution

(3) The solution will become super saturated

(4) Solution concentration will remain

unchanged

73. Which of the following is correct IUPAC

name:-

(1) CH CH CH3 3– –

OH

2-Hydroxypropane

(2) CH CH CH CH3 2 3– – –

C H2 5

2-Ethylbutane

(3) CH
2
=CH–CH

2
–OCH

3
 3-Methoxypropene

(4) 

Me

NO2

Me

4,4-Dimethyl-1-nitrocyclohexane

70. 2 

NH3 0.6



2NH3 N2 + 3H2 H2 0.15 

 

(1) NH3 0.15 



(2) 0.55 

(3) N2 0.45 

(4) NH3 0.25  





71. :-

(1) 

O

O

(2) 

O

O

(3) 
OH

(4) = =C O

72. 

    



(1) 

(2) 

(3) 

(4) 

73. IUPAC :-

(1) CH CH CH3 3– –

OH

2-Hydroxypropane

(2) CH CH CH CH3 2 3– – –

C H2 5

2-Ethylbutane

(3) CH2=CH–CH2–OCH3 3-Methoxypropene

(4) 

Me

NO2

Me

4,4-Dimethyl-1-nitrocyclohexane
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74. Which of the following is not a lewis acid :-

(1) CO (2) SiCl4
(3) SO3 (4) Zn+2

75. Which of the following is true for :-

Classical smog Photochemical smog

(I) (II)

(1) (I) is oxidising while (II) is reducing smog

(2) (I) occurs in warm while (II) in cool climate

(3) (I) is mixture of smoke, fog and SO2

while (II) is mixture of nitrogen oxide

and components formed on action of

sunlight on unsaturated hydrocarbon.

(4) All

76. Crystal structure of Cs atom is :-

(1) FCC (2) HCP

(3) BCC (4) SCC

77. Oxy acid with maximum P-H bond is :-

(1) Hypophosphorus acid

(2) Cyclotrimetaphosphoric acid

(3) Hypophosphoric acid

(4) Orthophosphorus acid

78. Which of the following complexes is not

square planar ?

(1) [AgF4]– (2) [AuCl4]–

(3) [RhCl(PPh3)3] (4) [NiCl2(PMe3)2]

79. Which compound is not possible :-

(1) 

NH3

B

Cl
Cl

Cl
(2) 

H O2

Al

H O2H O2 H O2

H O2 H O2

(3) HNO4 (4) [B(H2O)6]
3+

80. Which of the following pair has ,  as well as

co-ordinate bond :-

(1) SO3
–2

, HNC (2) NO3
–
, SiC

(3) B3N3H6, O2F2 (4) NO3

–
, HNC

81. Find the correct order :-

(1) BeSO4 < BaSO4 (solubility)

(2) Na > Li (reaction with N2)

(3) Al(OH)3 > AlCl3 (solubility)

(4) MgCl2 > NaCl (solubility in ethanol)

82. How many chloro derivative of B3N3H6 are

possible :-

(1) 3 (2) 4

(3) 5 (4) 6

74. 
(1) CO (2) SiCl4
(3) SO3 (4) Zn+2

75.  
     (I)        (II)

:-
(1) (I) (II) 

(2) (I) (II)

(3) (I) SO2 (II) 





(4) 
76. Cs :-

(1) FCC (2) HCP

(3) BCC (4) SCC

77. P-H oxy-
(1) Hypophosphorus acid

(2) Cyclotrimetaphosphoric acid

(3) Hypophosphoric acid

(4) Orthophosphorus acid

78. 
(1) [AgF4]– (2) [AuCl4]–

(3) [RhCl(PPh3)3] (4) [NiCl2(PMe3)2]

79. 

(1) 

NH3

B

Cl
Cl

Cl
(2) 

H O2

Al

H O2H O2 H O2

H O2 H O2

(3) HNO4 (4) [B(H2O)6]
3+

80. , 

(1) SO3

–2
, HNC (2) NO3

–
, SiC

(3) B3N3H6, O2F2 (4) NO3

–
, HNC

81. 
(1) BeSO4 < BaSO4 ()
(2) Na > Li (N2 )
(3) Al(OH)3 > AlCl3 ()
(4) MgCl2 > NaCl (ethanol  )

82. B3N3H6 chloro  :-

(1) 3 (2) 4

(3) 5 (4) 6
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83. Na2[Ni(CN)4] 
Na + liq. NH3  X, X is :-

(1) Na2[Ni(NH3)4]

(2) Na4[Ni(CN)4]

(3) Na2[Ni(CN)2(NH3)2

(4) Ni(CN)4

84. Which of the following is not correctly matched

(1) [CoF3(H2O)3] paramagnetic and sp3d2

(2) [Cr(C2O4)3]
–3 paramagnetic and d2sp3

(3) [AuCl4]
– diamagnetic and low spin complex

(4) [Fe(CO)4]–2 dsp2, and diamagnetic

85. Which sodium salt is least soluble:-

(1) Na2SO3 (2) Na2SO4

(3) NaHCO3 (4) NaNO3

86. Aqua-regia react with Pt to yield :-

(1) Pt(NO3)4 (2) H2Pt Cl6

(3) PtCl4 (4) PtCl2

87. In [Fe (CO)5], the Fe-C bond possesses :-

(1)  character only

(2)  character only

(3) ionic character only

(4) both  and  character only

88. Which oxide of Mn is acidic in nature :-

(1) MnO (2) Mn2O7

(3) Mn2O3 (4) MnO2

89. The magnetic moment of a salt containing Zn+2

ion is in B.M. :-

(1) 0 (2) 1.87

(3) 5.92 (4) 2

90. Which chromium compound is widely used in

tanning of leather. :-

(1) Cr2O3

(2) CrO2Cl

(3) CrO2Cl2

(4) K2SO4. Cr2(SO4)3.24H2O

83. Na2[Ni(CN)4] 
Na + liq. NH3  X, X   :-

(1) Na2[Ni(NH3)4]

(2) Na4[Ni(CN)4]

(3) Na2[Ni(CN)2(NH3)2

(4) Ni(CN)4

84. 

(1) [CoF3(H2O)3] paramagnetic and sp3d2

(2) [Cr(C2O4)3]
–3 paramagnetic and d2sp3

(3) [AuCl4]
– diamagnetic and low spin complex

(4) [Fe(CO)4]–2 dsp2, and diamagnetic

85. sodium  
(1) Na2SO3 (2) Na2SO4

(3) NaHCO3 (4) NaNO3

86. Pt 

(1) Pt(NO3)4 (2) H2Pt Cl6

(3) PtCl4 (4) PtCl2

87. [Fe (CO)5], Fe-C :-

(1)   

(2)  

(3) 

(4)    

88. Mn :-

(1) MnO (2) Mn2O7

(3) Mn2O3 (4) MnO2

89. Zn+2 (B.M.) :-

(1) 0 (2) 1.87

(3) 5.92 (4) 2

90. Cr 

:-
(1) Cr2O3

(2) CrO2Cl

(3) CrO2Cl2

(4) K2SO4. Cr2(SO4)3.24H2O

       
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91. In a moss the sporophyte :-

(1) Arises from a spore produced from the

gametophyte
(2) Produces gametes that given rise to the

gametophyte
(3) Is partially parasitic on the gametophyte

(4) Manufactures food for itself, as well as for the
gametophyte

92. Ecosystem are not exampted from the

(1) First law of thermodynamics

(2) Second law of thermodynamics

(3) Third law of thermodynamics

(4) Both (1) & (2)

93. Which statement is wrong for viruses?

(1) All are parasites

(2) Antibiotics have no effect on them

(3) They have ability to synthesize nucleic acids

and proteins.

(4) All of them have helical symmetry.

94. Sewage containing organic waste should not be

disposed in water bodies because it causes major

water pollution, Fishes in such a polluted water

die because of :-

(1) Large number of mosquite

(2) Increase in the amount of DO
(3) Decrease in the amount of DO

(4) Clogging al gill by mud

95. Which one of the following is wrongly matched:-

(1) Puccinia – Smut
(2) Root pressure – Guttation

(3) Cassia – Imbricate aestivation
(4) Root – Exarch Protoxylem

96. Which are is not a morphological adaptation of

organism :-

(1) Large surface area small volume

(2) Spines in plant

(3) Hypostomatic leaves

(4) Scotoactive stomates

97. Which of the following combination of characters

is true for slime molds?

(1) Parasitic, plasmodium without walls, spores

dispersed by water.

(2) Saprophytic, plasmodium without walls,
spores dispersed by water

(3) Parasitic, plasmodium with true walls, spores
dispersed by air currents

(4) Saprophytic, plasmodium without walls,spores
dispersed by air currents

91.    :-

(1) 

(2) 

(3) 

(4) 


92.  

(1)  
(2)  
(3)  
(4) (1) (2) 

93.   -
(1) 
(2) 
(3) 


(4) 
94. 



  :-

(1)  

(2) DO 

(3) DO  
(4)  

95.  :-
(1)  – 
(2)  –  
(3)  –  
(4)  – 

96.         
 :-

(1) 
(2) 
(3) 
(4) 

97. 
 
(1)   


(2) 


(3) 


(4) 

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98. (i) Sacred groves (ii) Hot spots

(iii) National park (iv) Wild life safari park

(v) Seed bank (vi) Biosphere reserve

(a) i, ii, iii, vi are the example of

insitu conservation

(b) iv, v are the example of ex-situ conservation

(c) ii, iv, v are the example of ex-situ

conservation

(d) i, ii, iii, iv, vi are the exampre of insitu

conservation

(1) a, b is correct (2) a, c is correct

(3) c, d is correct (4) a, d is correct

99. Read the following statements & give the answer

as asked below

(A) The cell wall of fungi are composed of chitin

& polysaccharide

(B) Members of phycomycetes are facultative

parasite on plants

(C) In ascomycetes asexual spores area called

ascospores

(D) In basidiomycetes vegetative reproduction

by fragmentation is common

How many statements are correct -

(1) 1 (2) 2

(3) 3 (4) 4

100. Which are is incorrect :-

(a) BOD  
1

DO

(b) Biodiversity  ecossystem instability

(c) Biodiversity  Biomass production

(d) Bod  
1

No. of Trout fist

(e) DO  No. of E coli

(1) b, e (2) b, e, d

(3) Only e (4) None

101. In the following which one is the example of

bryophyta that has elaborate mechanism of spore

dispersal :-

(1) Polysiphonia (2) Marchantia

(3) Polytrichum (4) Dryopteris

98. (i)  (ii) 

(iii)  (iv) 

(v)  (vi)  

(a) i, ii, iii, vi 

(b) iv, v 

(c) ii, iv, v 

(d) i, ii, iii, iv, vi 

(1) a, b  (2) a, c 

(3) c, d  (4) a, d 

99.  


(A)  



(B) 

(C) 



(D) 



 -
(1) 1 (2) 2 (3) 3 (4) 4

100.  :-

(a) BOD  
1

DO

(b)   

(c)   

(d) Bod  
1

No. of Trout fist

(e) DO  No. of E coli

(1) b, e (2) b, e, d

(3) Only e (4) 

101. 
    :-

(1)  (2) 

(3)  (4) 

   
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102. Why some plant produce nicotine, Caffeine,

Quinine, Strychnine.

(a) Because these substance are extracts by

humans for commercial benifit

(b) For defences aquinst grazers and browsers

(c) These play a major role in many ecosystem

services that nature provides.

(d) To attracte pollenators

(1) a, b, c (2) only d

(3) b, c (4) only d, b

103. Read the following statements & select the correct

option :

(A) Gymnosperms include medium size tree or tall

trees, shrubs & Herbs.

(B) In cycas coralloid roots are associated with

mycorrhiza

(C) In conifers needle like leaves reduce the

surface area.

(D) The gymnosperms are heterosporous

How many above statements are correct &

incorrect :-

(1) 2 - correct, 2 - incorrect

(2) 3 - correct, 1 - incorrect

(3) 1 - correct, 3 - incorrect

(4) 0 - correct, 4 - incorrect

104. How many statements are correct :-

(a) Eutrophication is natural aging of a lake by

nutrient enrichment of its water

(b) After CO
2 

methane (CH
4
), is major cause of

green house effect

(c) Ozone is secondary pollutant in troposphere

(d) Thickness of ozone is measured in dobson unit.

(1) a, b (2) a, b, c

(3) a, b, c, d (4) b, c, d

105. For Bryophytes, Select the incorrect statement in

the following :-

(1) The plant Body of liverworts is thalloid &

Isobilateral.

(2) Mosses have upright, slender axis bearing

spirally arranged leaves.

(3) Spores germinate to form gametophyte

(4) The zygote produces a sporophyte

102. 

(a) 
 

(b)  
(c)  
 

(d)  
(1) a, b, c (2) only d

(3) b, c (4) only d, b

103.  
 :

(A) 
  

(B) 


(C) 


(D)   

   :-

(1) 2 - , 2 - 

(2) 3 - , 1 - 

(3) 1 - , 3 - 

(4) 0 - , 4 - 

104.  :-
(a) 


(b) CO

2
   CH

4
     

 
(c) O

3
 

(d)        
 

(1) a, b (2) a, b, c

(3) a, b, c, d (4) b, c, d

105. :-
(1)   



(2)  

 

(3) 

(4) 
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106. Which statements is incorrect :-

(1) An important characterstic of all communities

in that their composition and structure

constantly change in response to

environmental condition.

(2) Establishment of a new biotic community is

generally fast

(3) Sec. succession begins in areas where natural

biotic communities have been destroyed

(4) Sec. succession occurs in abandoned from

lands, burned or cut forests etc.

107. How many animal are vertebrates

Myxine, Scoliodon, Lancelet, Ascidia, Betta : -

(1) 2 (2) 3 (3) 1 (4) 4

108. Which effect is not due to ozone hole :-

(a) Skin cancer

(b) Snow blindness cataract

(c) Mutation

(d) Emphysema

(1) b & c (2) a & d

(3) Only d (4) None

109. Which one of the statement is not applicable to

Pristis :-

(1) Mouth is ventral

(2) Jaws are powerful

(3) Air bladder is absent

(4) Cycloid scales are present

110. Which are/is false :-

(1) Plant – Man (Top Consumer)

(2) Calf  – Wolf (Tertiary Consumer)

(3) Zoo plankton – (Primary Consumer)

(4) Sparrow (Omnivore) – (Top Consumer)

111. How many statements are not correct :-

(a) Salamandra have eyelids

(b) Sexes are not separate in Aschelmenthes

(c) Air bladder is absent in Exocoetus

(d) Circulation is closed in cyclostomates

(1) 2 (2) 1 (3) 3 (4) 4

112. (a) Number of living in an particular area

(b) Mass of living in an particular area

(c) Dry weight of living in an particular area

(d) Total mass of organic matter in an particular

area.

Which statements is/are correct for stending crop

(1) a & b (2) c & d

(3) a, b & c (4) a, b, c, d

106.  :-
(1) 
 
 

(2)        


(3) 
 

(4) 
 

107.   (vertibrates)
 :-
(1) 2 (2) 3 (3) 1 (4) 4

108. :-
(a) 
(b) 
(c) 
(d) 
(1) b & c (2) a & d

(3) Only d (4) 
109. (Pristis) 

 :-
(1) 
(2)  
(3) 
(4) 

110.  :-
(1)  –  ()
(2)   – ()
(3) – ()
(4) () – ()

111.   :-
(a) 
(b)  
(c)  
(d) 
 

(1) 2 (2) 1 (3) 3 (4) 4

112. (a) 
(b)   
(c)   
(d)  


          :-
(1) a & b (2) c & d

(3) a, b & c (4) a, b, c, d
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113. Which one of the statement is not related with

Echinodermata phylum :-

(1) Water vascular system helps in locomotion

(2) Sexes are separate

(3) Digestive system is not complete

(4) Reproduction is sexual

114. Bottled fruit juice brought from market are clearer as

compared to those made at home because :-

(A) Lipase obtained from Geotrichum condidium

are used

(B) They are clarified by the use of pectinases

(C) They have more amount of water than the

home-made juices

(D) They are clarified by the use of protoeases.

(1) A & B are correct (2) B & C are correct

(3) B & D are correct (4) C & D are correct

115. Read the following statements carefully :-

(i) Formation of branch and flower take place by

axillary bud

(ii) Intercalary meristems are primary meristems

because they appear early in life of plant

(iii) Intra fascicular cambium is an example of

primary meristem

(iv)Inter fasicular cambium and cork cambium is

known as cylindrical meristem

How many of the above statements are correct?

(1) One (2) Two (3) Three (4) four

116. A number of transgenic plants have been produced

with a number of useful applications. Which of

the following is a mismatch regarding the

transgenic plants & its application?

(1) Golden rice - Vitamin - A rich

(2) Flavr - Savr tomato - Delayed ripening

(3) Tobacco - Herbicide resistant

(4) Corn, Brinjal - Resistant to ball-worm

infestation

117. Read the following and select out true statement:-

(A) The cells of parenchyma are generally

isodiametric

(B) Cell wall of xylem parenchyma are made up

of cellulose

(C) Xylem vessels and tracheids both are

multicellular

(1) Only A (2) A and B

(3) Only C (4) All A, B and C

113.   
  :-

(1) 
(2) 
(3) 
(4) 

114. 
,  :-
(A) Geotrichum condidium Lipase 


(B)   
(C) 


(D)  
(1) A  B  (2) B  C 
(3) B  D  (4) C  D 

115.  :-
(i)    


(ii)   
 

(iii)

(iv)       



  

(1)  (2)  (3)  (4) 

116. -





?

(1)  - - A 

(2) Flavr - Savr  - 

(3) -  

(4) ,  -  
117.   :-

(A) 


(B)  
 

(C) 


(1) A (2) A B
(3) C (4) A, B C
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118. When foreign DNA in inserted into any vector,

it results in inactivation of any marker gene. This

is used for selection of ............ :-

(1) Non-Transformant cells

(2) Transformant cells

(3) Recombinant cells

(4) (1) & (2) both

119. Which one of the plant group contain modified

adventitious root :-

(1) Mustard, Banyan, Wheat

(2) Monstera, Banyan, Grass

(3) Carrot, Grass, Mustard

(4) Mustard, Grass, Banyan

120. Competent host cell is required for transformation

with rDNA. Following processes are used to make

the host cell compent except :-

(1) Treating them with specific concentration of

divalent ion like Ca++

(2) By incubating the cells with rDNA on ice,

followed by placing them briefly at 42ºC &

then putting back on ice

(3) Agarose gel electrophoresis

(4) Both (1) & (2)

121. In which region of root cell are very small, thin

walled and with dense protoplasm :-

(1) region of elongation

(2) region of maturation

(3) region of meristematic

(4) none of the above

122. Which one of the following result is possible from

a cross between dihybrid F
1
 male Drosophila with

recessive female parent for body colour & wings

size character :-

(1) Progenies with 50% parental and 50%

recombinants.

(2) Progenies will have about 90% parental &

10% recombinant

(3) Progenies will show 1 : 1 parental

combination

(4) Progenies with 9 : 3 : 3 : 1 ratio

123. How many pollen grains are released from

dehiscence of anther :-

(1) 4 pollen grain

(2) 64 pollen grain
(3) 256 pollen grain

(4) Several thousands pollen grain

118. DNA 

............    :-
(1) 
(2) 
(3) 
(4) (1)  (2) 

119. 
:-
(1)  
(2)  
(3) 
(4)  

120. rDNA 

  :-

(1) Ca++ Divalent ion  


(2) rDNA 
42ºC 


(3) 
(4) (1)  (2) 

121. 
  :-
(1) 
(2) 
(3) 
(4)  

122. F
1 
  

    
          
    :-
(1) 50%  50% 


(2) 90%  10%   


(3) 1 : 1 


(4) 9 : 3 : 3 : 1 
123. :-

(1) 

(2) 64 

(3) 256 
(4) 
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124. Read the following statements with respect to back

cross ?

(A) It is the cross of F
1
 individual with either one

of the two parents

(B) Phenotypic & genotypic ratio is same

(C) It includes both test cross and out cross

(D) It is performed by Mendel in his breeding

experiment

How many statements are correct

(1)  One (2) Two (3) Three (4) Four

125.

A

B

C

D

The labelled ABCD respectively represents :-

(1) Egg cell, synergids, antipodals, polar

nuclei

(2) Synergids, polar nuclei, antipodals, egg

cell

(3) Antipodals, synergids, polar nuclei, egg

cell

(4) Polar nuclei, synergids, antipodals, egg

cell

126. Given below is a DNA segment showing

components of lac operon :-

P i P O z y a

In this lac operon :

(1) Only z, y, a genes are transcribed

(2) RNA polymerase binds to operator site

(3) Glucose inhibits the expression of structural

genes

(4) Binding of RNA polymerase to promotes in

inhibited by allolactose

124.            
?
(A)F

1
 

 
(B)  
(C) 


(D)


 
(1)   (2)  (3)  (4) 

125.

A

B

C

D

ABCD  :-
(1) 


(2) 


(3) 


(4) 


126. DNA 
  :-

P i P O z y a

 :
(1) z, y, a
(2) RNA polymerase 
(3) 


(4) RNA 
 

        
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127. The sketch given below represent a type of animal

tissue.

Multilayered
cells

Which of the following statement is not related

with above tissue ?

(1) It has a limited role in secretion and

absorption

(2) It's main function is to provide protection

against chemical and mechanical stresses.

(3)Cells are compactly pakcted with little

intercellular matrix.

(4) It is found in the lining of stomach and

intestine.

128. Select the correct statements with respect to sex

determination in chicks :-

(A) Female is heterogametic

(B) Male is heterogametic

(C) Male is homogametic

(D) It has XX-XO type of sex determination

(1) Only A & C are correct

(2) A, C & D are correct

(3) Only B is correct

(4) Only B & D are correct

129. In a resting state, the edges of thin filaments on

either side of the thick filaments partially overlap

the free ends of the thick filaments leaving the

central part of thick filaments. This central part

of thick filament not overlapped by thin filaments

is called :-

(1)A-band (2) I-band

(3)H-zone (4) O-band

130. If a polygenic trait is controlled by two gene pairs

than what will be the probability of individuals

in F
2
 generation showing exacts resemblance to

F
1
 progeny :-

(1) 
6

16
(2) 

4

16
(3) 

2

16
(4) 

1

16

131. In case of Rh-incompatibility normally foetus will

not suffer from :-

(1) Jaundice (2) Pneumonia

(3)Anaemia (4) Both (1) and (3)

127.          



Multilayered
cells





(1)

(2) 

 

(3)



(4) 

128.     
 :-
(A)heterogametic 
(B) heterogametic  
(C) homogametic  
(D) XX-XO  
(1) A  C 
(2) A, C  D 
(3) B 
(4) B  D 

129.  

   





(1)A- (2) I-

(3)H- (4) O-

130. 

F
2 


F
1 
 :-

(1) 
6

16
(2) 

4

16
(3) 

2

16
(4) 

1

16

131. Rh-

(1) (2) 
(3)  (4) (1) (3) 
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132. Why was Mendel successful in his experiments

performed on pea plant ?

(1) He selected only pure breeding varieties of

pisum sativum

(2) He took only those traits for his studies which

do not showed linkage

(3) Characters chosen by him were not distinctive

contrasting traits

(4) He studied the inheritance of a character for

only one generation

133. Which of the following is/are similarity between

periplaneta and Pheretima?

(A) Open blood vascular system

(B) Internal fertilisation

(C) Dioecious

(D) Double ventral nerve cord

(E) Indirect development

(1)Only B (2) B, C and E

(3)Only D (4) A, C and D

134. The T-cell receptor cannot combine with antigen

unless the antigen becomes complexed with

certain of the body's own plasma membrane

proteins. This is called

(1) Immune surveillance

(2)  Clonal selection

(3)  MHC - restriction

(4)  MHC - presentation

135. In female cockroach ovaries are located in :-

(1) 2nd - 6th abdominal segments

(2) 6th - 7th abdominal segments

(3) 4th - 5th abdominal segments

(4) 2nd - 6th thoracic segments

136. Prostate cancer accounts for about 2 to 3% of all

male deaths. It usually can be inhibited by

administration of __

(1) Cadmium oxide (2) Estrogens

(3)  Androgens (4)  Both (1) and (3)

137. Which of the following is not the function of cell

organelles included in the endomembrane

system:-

(1) Synthesis of lipid like hormones

(2) Formation of glycolipids

(3) Synthesis of ribosomal RNA

(4) Digestion of nucleic acid

132. 
 :-
(1) 
  

(2) 
 

(3) 
 

(4) 


133. 
 
(A)  
(B)  
(C) 
(D)  

(E) 

(1)B (2) B, C E

(3)D (4) A, C D

134. T-





(1) Immune surveillance

(2)  Clonal selection

(3)  MHC - restriction

(4)  MHC - presentation

135.   
(1) - 6 
(2) 6- 7 
(3) - 5 
(4) - 6

136. 2 3% 



(1)  (2) 

(3)   (4) (1) (3) 

137.   
  :-

(1)  

(2)  

(3)  RNA  

(4) 
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138. Which plant lacks hallucinogenic properties :-

(1) Atropa belladona

(2) Datura

(3)  Erythroxylum coca

(4) Papaver somniferum

139. "Omnis cellula - e cellula" statement was given

by :-

(1) Anton Von Leeuwenhoek

(2) Rudolf Virchow

(3) Matthias Schleiden

(4) Theodore Schwann

140. C-onc are :-

(1) Proto-oncogenes

(2) Viral-oncogenes

(3)  Cellular-oncogenes

(4)  Both (1) and (3)

141. Interphase is characterised by :-

(1) Pairing between homologous chromosome

(2) Condensation of chromosomal material

(3) Increase in the chromosome number

(4) Centriole duplication

142. Colostrum has_____ antibody.

(1) IgA (2) IgG (3) IgE (4) IgD

143. If genetic code is non–degenerate and quadraplate

and 7 codons are nonsense codon then how many

amino acid may be represented from this genetic

code :–

(1) 256 (2) 263 (3) 249 (4) None

144. Which of the following is not an autoimmune

disorder :-

(1) Myasthenia gravis (2) Multiple sclerosis

(3) S.C.I.D. (4) None of these

145. At the time of transcription, the sequence of N
2

bases may be at terminator site :–

(1) ATGGC (2) ACGCT

TACCG    TACGA

(3) AGGCCT (4) AAGCCTT

TCCGGA     TTCGGAA

138.  
(1) 
(2) 
(3)  
(4) 

139. " "   :-

(1)  

(2)  

(3)  

(4)  

140. C-onc  :-

(1) 

(2) 

(3)

(4) (1) (3) 

141.   :-

(1) 

(2) 

(3)  

(4) 

142. _____  

(1) IgA (2) IgG (3) IgE (4) IgD

143.      

7  



(1) 256 (2) 263 (3) 249      (4) 

144. 

(1)  (2) 

(3)   (4) 

145. N
2
 

 
(1) ATGGC (2) ACGCT

TACCG    TACGA

(3) AGGCCT (4) AAGCCTT

TCCGGA     TTCGGAA
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146. In Which of the following process there is no

interaction of more then one PGR:-

(1) Abscission (2) Senescence

(3) Apical dominance (4) Malt formation

147. India situated in which realm :-

(1) Oriental (2) Nearctic

(3) Ethiopian (4) Neotropical

148.

Primary meristem Yes No

Primary permanent

Secondary meristem

Secondary permanent

C

Yes

No

D

No

Yes

Differentiation

A

B

Ability
 of 

division

Specific 
task

(A) (B) (C) (D)

(1) Dedifferentiation Redifferentiation No Yes

(2) Dedifferentiation Redifferentiation Yes No

(3) Redifferentiation Dedifferentiation No Yes

(4) Redifferentiation Dedifferentiation Yes No

149. Homologous organs show which type of

evolution:-

(1) Convergent (2) Divergent

(3) Parallel (4) None of above

150. Among G-6P, F-6P, PGAL,  -ketoglutaric acid,

oxalosuccinic acid, alanine & Palmatic acid, How

many respiratory substrates oxidised through link

reaction :-

(1) 7 (2) 5

(3) 3 (4) 4

151. At the time of DNA replication,

deoxyribonucleoside triphosphate serves dual

purposes, which are :

(1) These are acting as substrate

(2) They provide energy for polymerisation

(3) Both (1) and (2)

(4) None of these

146. PGR 

  :-

(1)  (2) 

(3)  (4)  
147.   :-

(1)  (2) 
(3)  (4) 

148.

 







C





D







A

B










(A) (B) (C) (D)

(1) No Yes

(2) Yes No

(3) No Yes

(4) Yes No

   

 

 

  

149.     
 :-
(1)  (2) 
(3)  (4) 

150. G-6P, F-6P. PGAL, -, 
   

  

 :-

(1) 7 (2) 5

(3) 3 (4) 4

151. DNA 

  :

(1) 

(2)  

(3) (1) (2) 

(4) 

Time Management is Life Management
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152.

2H 
2H 

A

2e
–

FeS FeS

B
B
2e–

2e
–

Cy b
2e

–

FeS

2e
–

UQ
UQH2

Cyt C1

2e
–

M Cyt a-a3

2e
–

NADH
+H

+

NAD
+

2H
+2H

+

2H
+

2H
+

H O2

2H
+

½O

Inter-membrane
space

Inner-mitochondrial
membrane

Matrix

2H
+

A B M

(1) FAD UQ-UQH
2

Cyt C

(2) FMF UQ-UQH
2

Cyt C

(3) FMN UQ-UQH
2

Cyt F

(4) FMN PQ-PQH
2

Cyt C

153. The RNA used to act as :

(1) Genetic material (2) Catalyst

(3) Adapter (4) All the above

154. ATPase has a channel that allow ........ of protons

back across membrane, this release enough........to

activate ATPase :-

(1) Facilitated diffusion, Potential energy

(2) Diffusion, Chemical energy

(3) Diffusion, Potential energy

(4) Diffusion, Electrical energy

152.

2H 
2H 

A

2e
–

FeS FeS

B
B
2e–

2e
–

Cy b
2e

–

FeS

2e
–

UQ
UQH2

Cyt C1

2e
–

M Cyt a-a3

2e
–

NADH
+H

+

NAD
+

2H
+2H

+

2H
+

2H
+

H O2

2H
+

½O

Inter-membrane
space

Inner-mitochondrial
membrane

Matrix

2H
+

A B M

(1) FAD UQ-UQH
2

Cyt C

(2) FMF UQ-UQH
2

Cyt C

(3) FMN UQ-UQH
2

Cyt F

(4) FMN PQ-PQH
2

Cyt C

153. RNA  
(1)  (2) 
(3)  (4) 

154. ATPase 
  ........ , 
............ ATPase :-
(1)   
(2) , 
(3) , 
(4) , 
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155. DNA is better genetic material than RNA because:

(1) DNA is chemically less reactive and

structurally more stable

(2) Prsence of thymine in the place of uracil also

confers additional stability to DNA

(3) DNA is double stranded

(4) All the above

156. In Calvin cycle first identified product was :-

(1) 3-Phosphoglyceraldehyde

(2) 3-Phosphoglycerate

(3) 1, 3-diPGA

(4) 1, 3-diPGAL

157. Fore limbs of whale, bat, cheetah and human are

example of :

(1) Analogous organ

(2) Homologous organ

(3) Homoplastic organ

(4) Vestigial organ

158. Which of the following is transamination :-

(1) N  N  NH
3

(2) -Ketoglutaric acid + NH
4

+ +NADPH

        Glutamate

(3) Glutamate + OAA   Aspartate

   + -Ketoglutarate

(4) Glutamate + NH
4

+  Glutamine

159. Hugo de Vries called the single step large mutation

as :

(1) Mutation (2) Sport

(3) Micro evolution (4) Saltation

160.

Outer wall
Radial micellation

Inner wall

In this given diagram such opening is faculatated

by :-

(1) Radial micellation

(2) Differential thicking

(3) Turgor pressure

(4) All the above

161. Stanley Miller performed his experiment for

explanation of origin of life, in which year ?

(1) 1953 (2) 1970

(3) 1870 (4) 1960

155. DNA, RNA 
 
(1) DNA 


(2) DNA 


(3) DNA 
(4) 

156.   :-
(1) 3-Phosphoglyceraldehyde

(2) 3-Phosphoglycerate

(3) 1, 3-diPGA

(4) 1, 3-diPGAL

157.    
 
(1) 
(2) 
(3) 
(4) 

158.   :-
(1) N  N  NH

3

(2) -acid + NH
4

+ +NADPH

        
(3) + OAA   

   + -
(4) + NH

4
+  

159.  

(1)  (2) 

(3)  (4) 
160.







 :-
(1) 
(2) 
(3) 
(4) 

161. 
   
(1) 1953 (2) 1970

(3) 1870 (4) 1960
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162. (i) Water and minerals, and food are generally

moved by mass flow

(ii) During mass flow substances whether in solution

or suspension move at the same pace

(iii)Like diffusion in mass flow also substances

move independently

(iv)Mass flow may be due to positive hydrostatic

pressure or negative hydrostatic pressure.

How many statements are corerect :-

(1) One (2) Two

(3) Three (4) Four

163. "Jaya" and "Ratna" are better yielding semi dwart

varieties of rice. These varieties are doveloped in

which country ?

(1) Japan (2) India

(3) Phillipins (4) Mexico

164. Read the following statements carefully.

The .......(A)...... present on the inside wall of

.......(B)....... multiply by .....(C)...... division. A

......(D)....... completes the .......(E)....... division

leading to formation of two equal, haploid cells

called .......(F)....... .

Which one of the following options gives the

correct filling of A, B, C, D, E and F?

(1) (2) (3) (4)
(A) Spermatogonia Primary Spermatogonia Primary

Spermatocyte Spermatocyte

(B) Seminiferous Sertoli Cell Sertoli Cell Seminiferous

     tubule tubule

(C) Mitotic Mitotic First meiotic First meiotic

(D) Primary Secondary Secondary Spermatid

     Spermatocyte Spermatocyte Spermatocyte

(E)  First meiotic First meiotic Second meiotic Second meiotic

(F)  Secondary Spermatid Spermatid Sperm

      Spermatocyte

165. Read the following four statements (a-d) :-

(a) The semen is collected from male and

injected into the reproductive tract of the

selected female.

(b) The semen can be used immediately or can

be frozen and used at later date.

(c) Semen can be transported in frozen form.

(d) Hisardale is sterile

How many of the above statements are correct?

(1) One (2) Two

(3) Three (4) Four

162. (i) 
 

(ii) 
  

(iii)
 

(iv)
 

  :-
(1)  (2) 
(3)  (4) 

163. 


(1)  (2) 
(3)  (4) 

164.   
.......(A)......  .......(B)....... 
 .....(C)...... 
......(D)....... , .......(E)....... 

.......(F)....... 
A, B, C, D, E  F 


(1) (2) (3) (4)

(A)    

 

(B)    

(C)    

(D)    

     

(E)    

(F)    

  

165.  (a-d) 

(a)  
 

(b)


(c)

(d) 
 
(1)  (2) 
(3)  (4) 
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166. Match the following and choose the correct

answer :-

(A) Spermatogensis (i) Vagina

(B) Capacitation (ii) Ovary

(C) Folliculogenesis (iii) Testis

(D) Fertilisation (iv) Fallopian tube

(1) A-(iv), B-(i), C-(iii), D-(ii)

(2) A-(iii), B-(ii), C-(iv), D-(i)

(3) A-(iii), B-(i), C-(ii), D-(iv)

(4) A-(iii), B-(iv), C-(ii), D-(i)

167. How many of honey bees in the list given below

are fertile ?

Queen, Soldier, Drone, Fanner, Nurse, Scout

(1) Five (2) Four

(3) Two (4) One

168. Read the following statements (A-D):-

(A) The first movement of the foetus and

appearance of hair on the head are usually

observed during fourth month.

(B) SAHELI a new oral contrapceptive for the

females

(C) MTPs are considered relatively safe during the

second trimester

(D) The corpus luteum secretes large amount of

estrogen which  is essential for maintenance

of the endometrium

How many statement are incorrect in following?

(1) Four (2) Three

(3) Two (4) One

169. How many enzymes in the list given below are

found in the intestinal juice ?

Trypsin, Pepsin, Chymotrypsin, Aminopeptidase,

Lactase, Rennin, Carboxypeptidase, Nucleotidase,

Maltase

(1) Six (2) Three

(3) Four (4) Five

166.  
(A)  (i) 

(B)  (ii) 

(C)  (iii) 

(D)  (iv) 

(1) A-(iv), B-(i), C-(iii), D-(ii)

(2) A-(iii), B-(ii), C-(iv), D-(i)

(3) A-(iii), B-(i), C-(ii), D-(iv)

(4) A-(iii), B-(iv), C-(ii), D-(i)

167.  



(1)  (2) 

(3)  (4) 

168.  (A-D):-

(A) 





(B)  

(C) MTPs 



(D) 

 



  

(1)  (2) 

(3)  (4) 

169. 







(1)  (2) 

(3)  (4) 
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170. Mark the correctly matched pair of the hormone

with its source gland/organ and function.

Hormone Source Function

gland/organ

(1) Erythropoietin Liver Stimulates

formation of

RBCs

(2) Secretin Juxta-glomerular Stimulates

cells (Kidney) secretion of

water and

bicarbonates in

pancreatic juice

(3) Oxytocin Neurosecretory Acts on smooth

cells muscles of our

(Hypothalamus) body and

stimulate their

contraction

(4) Estrogen Ovarian follicles Support

(ovary) pregnancy and

stimulates

formation of

alveoli and

milk secretion

in mammary

glands

171. Consider the following four statements (A – D)

and select the option which includes all the

incorrect ones only :-

(A) Food is the only basic requirements of all

living organisms

(B) The major components of our food are

carbohydrates, proteins, fats.

(C) Biomacromolecules in food can be utilised by

our body in their original form

(D) Food provides energy and organic materials

for growth and repair of tissues

Options

(1) Statement (B), (C) and (D)

(2) Statement (A), (C) and (D)

(3) Statement (A) and (C)

(4) Statement (A), (B) and (D)

170. 

   

 

(1)   RBCs 



(2)  - 

 () 

 



(3)   
  
()  



 

(4)   

 







 

171. (A – D) 
   :-

(A) 

(B) 

(C) 

 

(D) 





(1)  (B), (C)  (D)

(2)  (A), (C)  (D)

(3)  (A)  (C)

(4)  (A), (B)  (D)
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172. Mark the incorrect statement with respect to the
thyroid gland :-
(1) It is composed of follicles and stromal tissues,

and works under regulation of pituitary gland
through TSH hormone

(2) Follicular cells of each thyroid follicle secretes
two hormones T3 and T4 (Thyroxine)

(3) Parafollicular cells of thyroid also secrete a
protein hormone called "parathyroid
hormone" (PTH), which regulate the blood
calcium level

(4) In adult women, hypothyroidism may cause
menstrual cycle to become irregular.

173. The density of a population in a given habitat
during a given period, fluctuates due to
changes in ?
(1) Immgration, Natility  (2) Mortality
(3) Emigration    (4) All the above

174. Given below is a diagrammatic view of your ear,

select the option in which the structures labelled

as A, B, C, D and E are correctly explained.

[A]
Temporal bone

Cochlear
nerve

[D]

[C]
[B]External

auditory
canal

[E]

(1) A- Collects the vibrations in the air which
produce sound

C- Connects middle ear cavity with bony
labyrinth

(2) B- Composed of connective tissue covered
with skin outside and with mucus
membrane inside

D- Its swollen base is called ampulla, which
contains a projecting ridge called Crista
ampullaris

(3) C- Helps in equalising the pressure on either
sides of the ear drum.

E- Increases the efficiency of transmission of
sound waves to the internal ear.

(4) B- Vibrates in response to the sound waves.

D- Related with both balancing and hearing

175. A person suffers punctures in his chest cavity in
an accident, without any damage to the lungs its

effect could be :-
(1) Reduced breathing rate

(2) Rapid increase in breathing rate
(3) No change in Breathing

(4) Cessation of breathing

172. 
(1) 

TSH     


(2) 
 T3 T4 () 


(3) 
(PTH) 
  

(4)   
 

173. 

 ?
(1)  (2) 

(3)  (4) 
174. 

A, B, C, D E 


[A]
Temporal bone

Cochlear
nerve

[D]

[C]
[B]External

auditory
canal

[E]

(1) A- 
 

C- 
(2) B- 

   


D-   
  


(3) C- 
E- 


(4) B- 
D- 

175. 

  
(1) 
(2) 
(3)  
(4) 
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176.  (A E) 
A. 



B. 


C. 


D. I, II VIII  


E. III, IV VI 
 

  
(1) A B (2) B, C D
(3) A, C E (4) A, B, D E

177.          

 :-

(1) (inspiration) 
(expiration)

(2) 


(3) 

(4) 

178. 
   

(1)  (2) 

(3)   (4) 
179. 

 
(1) S A    AV        A V 
(2) S A      A V    AV 
(3) S A    A V   A V   
(4) S A      A V    A V 
180.  

(A) PCT 

(B) Na 

(C) 

(D) Na PCT 

(1) A, B (2) B, D (3) C, D (4) A, C

176. Read the following five (A to E) statements.

A. Non-myelinated fibres commonly found in
somatic and autonomic neural system have
schwann cells around them as packaging cells.

B. Temporal lobe of cerebrum has the sites for
analysis of smell, sound informations,
understanding of speech and language
comprehension.

C. Bipolar neurons have a single branched axon
and have no dendrons.

D. I, II and VIII cranial nerves are sensory in
nature.

E. III, IV and VI cranial nerves control rotation
of our eye ball.

Which among the above statements are correct.
(1) A and B (2) B, C and D
(3) A, C and E (4) A, B, D and E

177. Mark the true statement among the following with
reference to normal breathing :-
(1) Inspiration is a passive process where as

expiration is active
(2) Inspiration is a active process where as

expiration is passive
(3) Inspiration and expiration both are active

processes
(4) Inspiration and expiration both are passive

processes

178. Which system of blood vessels is present in our

body exclusively for the circulation of blood to

and from the cardiac musculature :-

(1) Hepatic portal system   (2) Systemic circulation

(3) Pulmonary circulation (4) Coronary circulation

179. The cardiac impulse is initiated and conducted
further upto ventricle. The correct sequence of
conduction of impulse is :-

(1) S A Node  AV Node  Purkinje fiber  A V Bundle
(2) S A Node  Purkinje fiber  A V Node AV Bundle
(3) S A Node  A V Node  AV Bundle  Purkinje fiber
(4) S A Node  Purkinje fiber  AV Bundle  A V Node

180. Which statements are not correct ?

(A) Glucose is reabsorbed in PCT actively.

(B) Na is reabsorbed in nephron passively.

(C) Reabsorption of water also occurs passively

in the nephrons.

(D) Selective secretion of Na occur in PCT
actively.

(1) A, B (2) B, D (3) C, D (4) A, C
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